ol
N

a+b+c9

22 +x+1

alx—=1D)(x+1)+b(x=1)+c(x+1)

@ 2 @1 @ 0

® 3



oFA] 422 4 x4+ 22x + 11 x + 12 UHE Y A2

® -33 @ -22 ® -11 @ 11 ® 33






10002

A - %)

2522 — 2482 ©°

@ 62500 @ 1000 3 500
1

@ 250 G =



5.

Al
=

G, yoll tiske] x+y+ (xy—1)i =2+ L o x* +y2 ] gh-2?

@ 4 @ 2 ®1 @0 ® -1



2+ 3i
1-i

Sa+biE2 Ut o, a+b O] 27

@0 @1 @ 2

® 3



7.

i+ 4+ B2+t +iPE

@ i

®1



)
%

[b

=a® + 2ab + b?

@ (a+b)?

=a® — 2ab + b?

@ (a-b)?

a2_b2

® (a+b)(a-b)

@ (a-b)(a®+ab+b?) =a®-b>

® (a+b)(a®>-ab+b*) =da®+b?



2x? = 3x -2 = a(x - 1)(x + 2) + bx(x + 2) + cx(x — 1) ©] x°ofl T2t
FEA 0] HE5 a, b, ¢ & AoHH?

Da=1,b=-1,c=2 @ a=-1,b=1,¢c=-2

@ a=1,b=1¢c=2 @ a=-1,b=-1, c=-2
®a=1,b=-1,c=-2



10. TFA  +ax+ b7k TR 2 — x4 12 U] Hol A g 45
a+ b e Ftolet.

D
=%



11. o4 f(x) = 3x3 + ax? + bx + 127} x - 22 Yiro] Hoj2]1l &
(-BORE o] WolA|w % A% 4+ bl & Hefol

D
=%



12.

43 +d= (2 +x+2)( P +ax+b) L W, A ab
Ssteler.

D
=%

_c_)/]

oL
=]

tlo



13.

X =2x—y* + 2y E A3l SFAEY (x +ay)(x - by +¢) 7F AL
S, a4 b+ c o g Fotolet.

D S
=%



14, 3 —4x* +x+62 A5EoHSHA (x+a)(x+b)(x+c) Ot a®+ b2 +c2
o) g2 Fafole

D
=%



15. Al A=x2+3x-2, B=3x>-2x+1,C = 4x> +2x -3 9]
i 5fod

3A — (5A — (3B - 4C)} + 2BE 7F3] 51H?
@ 3x2+12x-13 @ -3x2+24x+21
@ 3x2-12x+21 @ -3x% -24x+21

@ x2+12x+11



16. x+y+z=1lxy+yz+zx=2,xz=39 ™, (x+1)(y+1)(z+1)
o] #= otofet.

D
=%



o] 36, B4l °17F 56 Q1 A-5HA 2] of

S}
=]

= mAjelo]

17. =

@ 6 ® 7 @ 8 ®9

@ 5



18. o f(x) & x2 - 42 el we] ol A7t —x+ 40leh, th4]
St 1) 4 2x-3OR WS Ho] U2 & Fohw?

D 2x+1 @ -x+3 3 x-1
@ 2x ® 2x-3



47} x - 2017,

242057 o+ 1)(x-2)(x-3)

™ ™ ™ ™
| I | I
2 2 =22
~ ™ =~
S o
I
I ™ - | +
= IS = =
- xS
- ~— 2 - -
—~ —~ | —~ —~
[N} a o a
=
[ (NG [
2= - =R
~— ~— [a\] ~— ~—

—_— =~ ==

~— —  ~— ~—



20. +avVb = —ab, z//_% :_\/g’ la+b|>cl|a, b, col tHatod

Via+b+e)2-la+b|-Vc2o gre?

® 2a @ 2b ® -2 @ -2a ® -3b



